3.Z51B81%(¥M1) (BCG4ETD)

#qgE Hgmd—F B R B 5 _*
1 0354-250-300-0 =4°4(600)COMP 1
2 V200-261-605-0 AN M16X50 2
3 V411-260-016-0 INAYN R 16 2
4 0353-250-012-0 UtyrMm16) 2
5  0438-251-250-0 N4A{799COMP 2
6 0438-251-011-0A =k 2
7 V211-260-802-5 IN 4R WMS) M8X25 4
8  0354-253-200-1A h4A40YF COMP 2
9  8935-042-034-0 DY hn-h4A{SP 2
10 V411-260-010-0 MR 10 2
11 V500-162-502-0 Uty 2.5X20 2
12 V300-260-010-0 +9b M10 4

_10_



3.Z51B81%(¥M2) (BCG4ETD)

#7E Had—F B mBF {E %k E_=
1 0342-250-230-0 47 LIN-COMP 1
2 0402-201-011-1A noNIVIYY727 1
3 0342-250-013-1A 4 40Y9SPhl 1
4  V201-260-805-0 ) T AN M8X50 1
5  V362-260-008-0 INAFIN R2YETFYE 1,1 M8 2
6  8935-004-048-0 An-Sp 1
7 0340-301-006-0 ANINTIIEY 1
8  V300-260-012-0 Tk M12 2
9  V411-260-012-0 IED WIS 12 2
10 V401-160-012-0 SW 12 1

_‘l‘l_



3.5/ B8{R(FND3)(BCGAETDP-BC64ECTDP)

8
#qE HHmI—F BB i 44 F5 E %K &
1 0354-252-300-0 ~4°4(600D)COMP 1
2 0354-252-210-0 hE9Y7COMP 2
3 V211-260-801-6 IN 4 WMS) M8X16 2
4 0438-251-250-0 h4A4799COMP 2
5 0438-251-011-0A =k 2
6 V211-260-802-5 INFEIWMS) M8X25 4
7 0354-254-200-0 Yk (155)COMP 2
8  8935-042-034-0 DYhn-h4A{SP 2
9  V411-260-010-0 R 10 2
10 V500-162-502-0 ey 2.5X20 2
11 V300-260-010-0 F9b M10 4

_12_



	010
	011
	012

